1.

FR28F E—REFFEOMITNE
(D A DURAIKR (% A REAED)

(B4 FH, %)

9O XRIRTE

= Al FHEIREE IRAEEE UIRAZE
R 992,759 638,206 64.3
2 hAESH 74,001 19,644 26.5
3 FFEIXRTE 2,500 432 17.3
4 FBIBBIRfGE 8,000 1,600 20.0
5 RRAFZEENBIXGE 5,000 0
6 MAHERIXTE 230,000 122,816 53.4
7 BEREREHRX{AE 14,001 5576 39.8
8 MARHIK{FE 806 806 100.0
o M AT 4,810,196 3,271,342 68.0
10 XBELEEXNEHFIXGE 1,000 559 55.9
11 HEERVEES 36,171 18,709 51.7
12 FRAMERUFHA 55,339 30,748 55.6
13 EEXHE 1,104,865 210,311 19.0
14 EXHE 536,012 50,110 9.3
15 BAZEUNA 14,857 6,953 46.8
16 ZFHitsE 75,682 7,380 9.8
17 A% 244,138 0
18 #2HE 380,213 380,213 100.0
19 FEURA 107,201 27,058 25.2
20 HT{E 2,179,461 23,500 1.1

= &t 10,872,202 4,815,963 44.3
Q) BEHOZHIKR(ZRAXRRED (B FH, %)

9RRIRHAE CEEES

=% Al FHIREE X HFEE THE
1 B 94,810 49 459 52.2
2 WBRHEE 1,437,198 402,959 28.0
3 RE&%& 2,290,790 925,973 40.4
4 BHEE 1,704,454 487,461 28.6
5 EMKEEXE 508,308 120,493 23.7
6 BIE 161,574 68,771 42.6
7 T K& 1,508,203 540,125 35.8
8 JHME 1,110,902 381,170 34.3
O HEE 937,749 278,838 29.7
10 MEE 1,108,214 566,182 51.1
11 FliEE 10,000 0

= &t 10,872,202 3,821,431 35.1

XPERRAERBICE. BEAFEZSATHET,




WA DIRARK SR Uk D H R

108{8722052FH

n FEIR%

B URAFER(E X HFEE




2. HASHOBITKR (BB FH, %)
CEEEREE = 5l I A = X HE
£ i & FEIREZEA | WAREHB | XHEEC B—C B/Ax100 | C/Ax100
IEE1EJ§1%B§¢#%IJ &t 2,742,850 1,118,187 1,110,044 8,143 40.8 40.5
N ERRFANEET 2,192,915 869,196 822,008 47,188 39.6 37.5
B enEEREISE 490,020 262,961 225,478 37,483 53.7 46.0
TKRKEZEENEE 861,094 352,378 225,731 126,647 40.9 26.2
PRl &S EESEENEE 61,344 17,724 21,346 A 3622 28.9 34.8
HHKEEERAIEE 409,692 71,748 129,285 A 57,537 175 31.6
XFPEIREREICIL, RHBAFEEZSATLET,
3. AIF &K & U BT A RS
BT 8% BT BA BUR AR
£ g R BTFRURAZE (F (ATR1A LY | — MR S5HRE (FTR1 ALY
> M) 25 (M) 28 (TH) 28 (M)
TR 26 HF OE 1,039,138 73,401 9,522,416 672,630
TR 21 HF OE 1,043,161 75,597 9,220,930 668,232
T R 28 HF OE 992,759 72,868] 10,872,202 798,018
GE)FR28EELDHIEFIARBENDFERERLVAOXFAVWTEELTVET,
4. BIEBIEDRR CER2TEERITE)
(1) T HEW
= &t 4 — R =ET BHKESERF=FT TKEFEHIESE
X & T+ ) [ )|+ #Hm|E B |+ ) [E %)
17 Bt B 9,035,114 91,840 21,036 287 26,291 7,533
T Bt B 8,126,956 15,193
&t 17,162,070 107,033 21,036 287 26,291 7,533
) E (B FH)
= i % FEXES
RS E 5,698,888
ERBERARENESE 11,530
N ERREAEE 163,973
BEHKESERAIEEH 42,079
TKEFEHAINSE 174,837
FRlE LR b EE XSS 31,574
BHESE (B FH)
£ &t % X 2 | FEXES
=&t BEHES 163,736
(M) ERHE (Bfi-FH)
£ i % X 2 | FEXES
—BEE FREESHENS 47,500
—frLE EEEHNE 62,500
— L BreEte 1,430
g =&t EEHEALAMS 232,112
et BiASEIS 11,339
&t 354,881
5. i ABIRES (FR2IEEXREE) (Bfi-FH)
= &t % & EE
— g &5 11,492,975
BEKESERAESH 986,854
TKEZBERANEE 3,408,268
FﬂIJAHUE,%H*%%##?JIJ i 172,547
5 16,060,644




